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100. 3 —0.1 -1.6 100. 5 0.2 -1.8 44
100. 6 0.3 -1 100. 4 0.0 -1.9 54
100. 2 —0.3 11 100.0 0.5 -1.6 61
99.8 —0.5 -1.6 99.4 0.6 -1.9 7H
99.5 —0.2 1.5 99.5 0.1 2.1 8 H
99.7 0.2 -1.3 99.7 0.2 -1.9 9A
100. 1 0.4 0.2 100.0 0.3 -1.0 104
99.9 —0.2 0.1 99.7 0.3 -1.4 11/
99.5 —0.4 0.2 99.5 —0.2 -1.3 124
99.8 0.3 0.5 99.0 —0.5 -1.4 2011514
99.5 —0.3 0.4 99. 1 0.1 -1.3 2/
99.6 0.1 0.7 99.3 0.2 -1.4 3/
100. 1 0.5 0.2 99.6 0.3 0.9 4]
100. 2 0.1 0.4 99.4 0.2 -1.0 54
99.8 —0.4 0.4 99.5 0.1 0.4 61
99.7 —0.1 —0. 1 99.2 0.3 —0. 1 ;|
99.6 0.0 0.1 99.4 0.2 —0.1 8 Ji
99.7 0.1 0.0 99.4 0.0 —0.3 9A
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®6 BHMEIEMEB TH/NFTME

% A = L e
9 84 % %

PRRS Ko |EWNEE, Rk, Bi—URRK (FEH, SFE & OFEFENF—Db0), A (5kg AD), TathY ] 14% 2,000 1,900 5.3 1.1
5 5 b ok [EIWNE, R, EEIRERK, AV (10kg AD) 148 2,655 2,655 0.0 -6.2
/R v [EEs 1kg 400 394 1.5 6.4
B 0 A |REESAT, T A (TTg D) 11 146 153] -4.6 -
AN Ez B [, BAD (kg AD) 14% 216 206 4.9 2.4
X T I/?Z}Z;z;ﬂl’égiﬁ T TP —Fr UNTz—P—FY), ST IF 7Y —F 100g 276 sl 727l o7

BN UJ IlECg 100g 348 388 -10.3| 244.6
AT T BB 100g 85 66 288 -3.4
L [EPE fh, m—2A 100g 642 670 -4.2 9.0
S 2—2A 100g 273 273 0.0 3.8

wH A TuA7—, bbiA 100g 133 133 o0.0f 108
LR 3L, MEEHTED, AR A (1, 000mLAY) 1R 178 181 -1.7] -6.8

3 — 7 vk |FL—r3—2 Lk, 400~450g AV 100g 37 36 2.8 -2.6
o BN, LA R, 73w 2735 (10fHAD) 137 206 206] 0.0 0.0
ES5NAZED kg 1,253 904 38.6] -10.0
h X 1kg 487 571 -14.7] -24.3

DR S/ AN 1kg 314 350 -10.3] -37.8
72 ¥ R & FRERTEER 1kg 225 212| 6.1 7.1
o~ k kg 616 473 30.2| -17.4
A 1 ARSI, I 100g 24 24 0.0 -7.7
moom g ST 100g 178 186] -4.3] -9.2
v oA = o0, 1200~400g 1kg 436 517 -l -17.3
SN 1kg 244 232 52| 184
R W [Fvs—T(erha) i, RUREAD (1, 000gAY) 14 376 323 16.4] 29.2
R R sk R |BER DTz, JRES (4008 AD) 14 298 298| 0.0 0.0
T *  |WhIva—hr—F(1H60~100g) 100g 358 339 5.6 0.8
TAAIY — L N=FTARIV—24, 197 A (120mLAD) 11# 277 262| 5.7 5.7
oY FHR0Y, HONRY, I 118 494 494 0.0 0.0

T L (F %) |HBIRVTL, I2EFL, 8~10fEAY, i 137 498 498 0.0 -16.7
[ S A 1= B 4 100g 192 198 -3.0 -
nB BT |EA, EReL 100g 156 156 0.0 -1.9
&K OB OBE [RESEEL SRRV AD (500mLAY) 1A 93 93[ 0.0 1.1
v — v [, 5AD(350mLAY), 61 AD 13w 1,184 1,184 0.0 -39
N —F AR 11 743 743 0.0 0.0
B A e, A 1R 524 524 0.0 -3.0

v — L (4 R) [BREIEIZBITDE —LAR, i, FE(500mLAY) 14 500 500 0.0 -8.9

FAEMERFSE, AREROT . ARERYIE. LR TR TEO3EFEEIToTRY ., ZRUAMNITROLMEL TOET,
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e mioA | oA AR
V3 an NG
& 5] # ] 7 h T o |AA K
9A 8A % %
8 (R ) |RERE ?;ﬂ; 3,661| 3,653 02| 03
J.0m
;T i FIAT I, B2 780, JEEHED 18L 1,650 1,650 0.0 12.2
B  [#E e MR TRREHRM S AT, B AL — M, BERVR CERRIRRE ) 552, 8kW, HEFE3. 2 . e . .
T AET RV |3 6kW, GRET A IRAIR6. 3~6. 7, 7oV — A BiIEIENE, ftkieiae | 1T | 195667) 195.66T)  0.0] 156
WO T v 7B, SRR, 30WE 1A 835 835 0.0 -5.6
e R TE A ARSI, MR S RRHER, ByOR, D (1. Okg AV) 158 323 323 0.0 -
NN o 3 = — b4z 0, b= o/ | R S VEL 5
ATy s 2| /(X;‘ GEM) 7 =2, THi100%) SULTHEO5% UL k- RUT L2 AR ), (ARXIW64 A 2.080| 2,813 5.9 12.3
~70cm, Hifkih
N — F — =T, TRA UL 704, (FEM) TR A L, (XM, b 142 6,873 - - -
N HE TR, (R, UR)GRE S, URORE]RVAHT, (A4 R])23~24cm, Hifkdh 12 10,290 10,045 2.4 2.4
KU v s Al (HEEEIAMD, H A (100mL X 104 AD) 154 980 980 0.0 -
e LRV TIAF IV R, FEEREL VR, SR, JESTHEL. 60, UVAYh, #if, (7L—2A) % - -
B8 (), i, TR S 1| 18,867) 17,867 56 00
HEhsEH ) |LXag—aY)r, 73— AR E L 1L 142 145 -2.1 8.4
B ORE [ REEERNE:, BARZRUBERY, 7 AT 7 VNG, VR B 174 9,167| 9,167 0.0 0.0
7 LB [ER&ETLE, 32VAL A var st SRy, LED Sy 774 ME#E RS RERT TR 16 49,800 48,900 1.8 -
Mo—=u TRy a7y, (BEIARY 27 1100%, (A RIS~L, il 1A 6,195 6,195 0.0 0.0
M OB OB R ABLER 18] 1,700 1,700 0.0 0.0
HOEZ B [RAWE KA 1[8] 3,873 3,923 -1.3 0.6
7Y — A BV RS, 406 A0 118 5,250] 5,250 0.0 -
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RO A, BRATY - SEp224F 11 H $ERCIE
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D AT TR 2343 A SRR EE
(15 Pei FABeA  F-pk23476 A 7k

(F£6) RV 7 #l: S-Rp234RT H 6 36 L ONALSE
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